CROS L e

Strangely cnough this old weave acquires ncw interest in
our so called modern weaving. This is because it gives us a freedom
of choicc in the matter of setting the warp. As we all know, there
arc two distinct limits of moking an "open' warp, i.e. a warp with
very few ends per inch, The first 1limit is set by the drawing-in
of the edges. When we have too few ends of warp per inch, the take-
up on the weft is much too high. The wefts winds around the warp
without a similar action of the warp taking place. Thercfore, unless
we weave at a very slow rate, leaving plenty of weft in each shed,
the edges will be drawn-in to a point where further weaving will be
impossible because of the breaking edges. The sccond limit is cn-
countcred when in the finishced fabric the weft slides alons the
warp either in washing or even when the fabric is becing cxuposed to
the normal tcar and wear We are only too familiar with spectacular
sodern frbrics which secm. to desintegratc under their own weight.

Thus, when we try to moake a light fabric with comparatively
hcavy yarn, we can not go below o certnin sett of warp - at least
not with normal wcoving techniques,

But there is a whole class of weaves, to which the rules
soveraing the sctt of warp (see MY 8/1, 19/3, 20/1) do not apply.
These wecaves are called Leno in power weaving, and Cross Weaves in
hondweaving.

The general principle of all Cross Weaves is that the cnds

of warp arc not parallel to each other, but that they ffeross’™ each
other at regular intervals. Fig.l shows the

A B simplest case: the first pick of weft (C)
goes under warp-cnd A and over cnd B, Then
E:Jﬂ H before the next pick of weft is made, the
oo com st G two ends are crossed, or twistcd around
k§>/f} each other. They really makc only half of
gy a turn. They are kept in this position
/}Ai:\ when the second pick of weft (D) is made.
L'T* $ <D This pick goes over B and under A, After
\\<<f the second pick the ends of warp arc tuisted
\ﬁﬁ\: in the opposite direction (or untwisted),
f/ A and this is the end of one repeat of our
L‘ L weave,
* So far we are not concerncd with the
Fig.l method which will produce the tuist. For

that natter there are scveral mcthods, of
which four can be used by a handwecaver.
But before we go any further we must say a few morce words about the
cross~wecaves in general.

he weave shown in fig.l is the basic cross-weave, properly
called Gouze. The name should not be confused witih so called Gauze
fabrics, usually woven in tabby reinforced with somce sort of size
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(zluc, starch, etc.). These are really imitation gauze, and have
nothing to do with cross-weaves,

If one repcat of gauzc alternates with plain tabby (always
an odd number of shots of tabby) as in fig.2, thc weave is called
Leno, Herc again we have
confusion, beccause in
industrial powecr-weaving
l k\ t i all cross-wcaves are cal-

. led Leno, and many hand-
//// weavers follow the indus-
trial terminology. Then
’ we have also the "Mock Le=-

:) , no'", which is another
\\\\ imitcation cither of Gauze,

or of Leno,

|
R —_— ‘ Not all the waro-ends
L must bc crossed in wea-

‘ ving. We¢ may have for in-
! stance onc pair crossed,
\ ) ! and the next woven as
plain tabby; or scveral
repeats of gauze nay
Fig.2 Fig.3 follow several repcats of
tabby. Such a weave is
(or rathcr has been)
known as Pickets. Fig.3 shows the simplest case of Pickcts. Finally
Leno and Pickets can be combined so that we have squares or roc-
tangles of Gauze on a background of tabby., The old English name for
such a wcave is Riddles.

Gauze, Leno, Pickets, and Riddles are four cross—weaves
which can be made on a four-harness~frame loom, We shall linit
oursclves in these articles to the cross-weaves for four frames,
bccause the higher weaves of this class arce rather difficult to
prescnt on paper and still more difficult to weave, The weaver who
will succced with the technique described here will do well to
study Murphy's "Art of Weaving'" out of print but available in public

librariecs.
s ok ok ko ok Kk ok ik

Of the four above mentioned methods of crossing warp ends,
we shall cdescribe here only one - in our opinion the casiest and
prcscnting nore possibilitics than any other, but first we shall
cnuricrate all four:

l-st. Cross weaves by pick-up. This gives us a complete
frcedom of weave and pattern, but is so slow that it cannot be
scriously considercd except for making narrow borders on large
articles. Many weavers are quite familiar with this method.

2-nd, Traditional method which requires half-hecdcdles
{loups), and plain heddles (standards) to cross thc ends. It has
bcen described scveral times, recently in the Handwcover & Crafts-
mane It is a very good method but with four fromes gives only
Gauze or Leno.
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%2.rd, A variation of the above method (without "'stancards")
which we shall describe presently.

Loth, Industrial methods with patent steel hed’lles. These
heddles fit hand looms as well., They are rather expensive, and from
the point of view of a handweaver hardly superior to the classical
doups and standards.

%k ok ok ok %k k kK

The doups are loops of fine thread slightly longer than
half the length of a wire or steel heddle. The material of which
the Jdoups are made is of priwume importance. They should be strong,
resistant to friction, but at the same time pliable. Ordinary
sewinz thread No.40, doubled - is quite satisfactory. Two threads
can be twisted together on a spinning wheel, the direction of twis-
ting opposed to the twist of the thread. For the first experiments
about 100 heddles will do. We shall need therefore close to 40 yds
of the Jdouble thread. The thrcad is cut first into pieces about 6
feet longz. Each piece is hung from a nail with a small weight tied
to the lower end. Let it hang for a minute or so until the weight
stops spinning around, This operation is necessary to remove the
ev.cessive twist which otherwise would result in kinks and snarls
in the finishcd doups. Then we drive two 2" nails in a piece of
wood 6" apart, and make cdoups around these two nails, liach doup
will be about &' long.

To weave gauze or leno we do not need any wire heddles
either on the l-st or the 2Z-nd frame, For the time being we shall
not use thc scconl! frame at all. All Jdoups are hung on the top bar
of the first frame., Thcy are not threaded on the bar, but simply
loopced around it,
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Now we prepare a warp of plain or mercerized cotton NNo,10/2.
Yle can set it at 16 ends per inch, and use No.8 reel. The threading
is done as follows (sce fig.6, next page). In ecach repeat of gauze
we take first the end A an? pass it through the heddle on frame No
L4, and then through a doup on frame No.l, Then we pass the threa-
ding hook to the left of the doup (which is already threcaded), and
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through a heddle on frame No.,3 to the right of the already threaded
hed’le on No.4. This is one repeat of Gauze. It is absolutely
essential that both warp ends of the same repeat go into the same
dent of the reed. In the same way we thread all warp ends.

3 5%

Fig.7

Before we start making the tie-up we must understand how
the whole set-up is going to work. To get the first shcd of Gauze
(fig.4) we must raise frame No.4, and sink No.3, bocausc this is
one of the tabby sheds. But we must also lower Iframe No,l to get
the doup around the warp-end B. Otherwise the doup would pull B up,
and A down, so that we would have no shed at all, The tie on frame
No,l must be a little shorter than the tie on MNo,3. Thus our first
trecadle will be tied to sink frames 1 and 3, and raise No.,k.

The gauze shed (with twisted warp ends) is shown in fig.5.
Both frames 3 and 4 are sunk, anl No,l raisecd, This shed is always
the one which gives us trouble. It is clear from fig.5 that to get
a good shed we would have to have the warp-end A much longer than B,
We shall come lzter to this problcem, but we may say here that this
is the reason why most of the <doup leno sheds hardly open at all.
Our sccond treadle will be tied so as to sink NWo.3 and 4, and to
raise No,l.

Two trcadles arc enough for plain gauze. To weave tabby
between shots of gauze, we must have a third trcadle which will
produce the sccond tabby shed (fig.6), Here ifo 3 is raiscd, No.h
sunk, and No.l half way between the two., This ‘ncutral’ position
is a hicved by making the tie about 2 to 3 inches longer than
normal ties, The third treadle then will sink No.4, raisc No.3,
an”’ half-sink No.,l .
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Fig.8 shows the whole tie- nggﬁ6ﬂ rﬁﬁ—wgi

un for the sunking shed, and fig.9 ,*$-+wj + |
the tic-up for rising shced. $@i~»q4 _éwa”i
To weove plain tabby we T?Ié?i f3?§fi}

shall treadlc: 1, 3. For Gauze: ““E‘;.’; “8“‘ “i;"i“j‘“;

1, 2. For Le¢no: 1, 2, 1, 3, or:
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1,2,1,3,1,3, cr 1,2,1,3,1,3,1,3, ctc.

Before we can try more complicated weaves, wc must concen-
trate on the adjusting of the tie-up, so as to have all sheds open,
and clcar.

We start with treadle 3. Adjust frames 3 and L so as to have
good tabby shed, and then No.l so that the doups will not tangle in
the shed (the framc No.1l too low), or pull thc lower part of the
shed up (the frame too high).

Then comes treadle No.l. We adjust first frames 3 and 4, and
then shorten the tic on No.l until the top bar of the frame nearly
touches the open shed., Even so the doups may tangle in the shed,
Incroasc the tension of the warp, and press firimly on the treadle.

If this does not hclp, try treal!le 2 before treadle 1. Treadle 2
should clear the shed (of coursc we do not throw the shuttle on this
treadle). If even this Jocs not work, the doups arc too stiff. Try

to soften them by forcing the shed No,1l opcn with fingers if ncees-
sary. Kecp changing sheds for several minutes until shed No.l becomes
clecar, or until we decide that the doups must be replaced with softer
ones.

Finally we come to the shed No,2. First wc adjust ties to
frames % and 4, They must be both on the same level, Then we get
No.l to risc quite high - higher than normaol. Even so the shed will
be very poor. To get a better shed we must provide the extra length
for warp-cnds A,

To do this we need an extra roller which would pull down all
warp--cnds threaded through frame No.b4 (fig.7)., We can male this rol-
lcr from an old broomstick. Cut a lensth equal to the width of the
reed. Drive one nail (1¥%") in each end of this roller, so that about
1% will project. Then tie one screen-door=-spring to cach nail. Tic
a lcngth of string to the other end of each spring.

Now wc open shed No.3, pass the roller through the back shed,
so that both ends of the roller will project from the warv to the
left and right, and tie both springs to the loom frame, Therc should
be a fair amount of tcnsion on these springs.

To provide the extra length of A, we shall wecave plain tabby
for scveral inches., There will be more take-up on cnds B, since they
arc not pulled down by the springs, and consequently thce length of
A will incrcase when compared to B. If we decided that this process
went far enough, we can try again to open shed No.2, If VA (sece fig.
5) rises but it pulls up “B" at the same time, then the differcnce
in lcength between A and B is not sufficicnt - kcep on weaving tabby.
If the shcd hardly opens, and the roller R (fig.7) “ocs not risc,
the springs arc too tight - release somc of the string at the lower
end of cach spring. If, finally the roller riscs, but thc shed is
s5till poor, then the tension of the warp is teco high. Releasc it,

This is the most tricky part of cross-wcaving, and we should
suend quite a lot of time on experiments at this staze, until we get
all shods properly open, With a good lcom therc is no rcason why we
should not succced. The best looms for cross weaves are cdouble-tie-up
(Swedish), or ccunterbalanced. Very light jack-type, and table looms
will give only a very poor shed.
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